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Question Number : 1 Question Id : 2839365441 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If "C, denotes the number of combinations of n distinct things taken r at a time, then the

domain of the function g(x)="*"c , | is

"C, @0 1S SVHO D0 I SNHOD 230 B 0 ST ) HoTrTe

50938 O, g(x)= e, BHowo BE) B0
Options :

] |
28393621761, ¥ 12 2:3:4.3)
28393621762, * 10:1:2.3,4;

28393621763, % &

. 10}
28393621764, # 17}

Question Number : 2 Question Id : 2839365442 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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‘ ﬂ/ﬂ.b. c.de R} If fX> R isdefined by f(4)=det(4) 74X, then fis
C

a b
¢ d

f(4)=det(4) VA X 8D, @) f

}/a,b.c,deﬁ} %00, f: X 5>R oF |HDHor)

Options :

one-one but not onto
28393621765, % @™ 5580, 5% DO 5°¢%

onto but not one-one
98393621766, ¢ COHIREW, 570 T 850 57D

one-one and onto
28393621767, % O 5M HOAW Ho|Hikn

neither one-one nor onto
28393621768, % @550 5°¢, D00 5°¢H

Question Number : 3 Question Id : 2839365443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If f(x) is a function such that f(x + y) = f(x) + f(y) and f(1) = 7 then i_f(r}:

f(x) @38 f(x +y) = f(x) + f(y) 00N f(1) = 7 oTD5ertw ™ D) 28
EHotDd Y f(r)=
Options :

n
28393621769. * 2 @cpllegeduniaé



T(n+1)
28393621770, % 2

28393621771, * /(N +1)

Tn(n+1)
28393621772, ¢ 2

Question Number : 4 Question Id : 2839365444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If A 1s a square matrix of order 3, then |Adj(Aa_’;‘ A:)

A 2.5 (B50578 DO STBS o, @) |Adj(Adj 4°)|=

Options :

¥

28393621773, % | 4
1Al
28393621774, %
A.K
28393621775. ¢ |

|A ||h
28393621776. #

Question Number : 5 Question Id : 2839365445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : Non« )
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If A and B are two square matrices of the same order and (AB + l:"nf-'m)-r +(AB-BA ]T = 2BA
then

A, B e 2.8 618 oA Both tHehd|S Sr(eden SHoakn
(AB+BA) +(AB-BA) =2BA wand

Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.

Options:
A and B are both symmetric matrices but not skew-symmetric matrices

28393621777, A 0O B Bodyr &ra)sd «rr(eddew, 57 S| P Ar(edgen 5%

A and B are both skew-symmetric matrices but not symmetric matrices

28393621778, A 0BCW B e DOy S8 Arsd 1| ed8e, SR AP Sr|edgen s

A and B are neither symmetric nor skew-symmetric matrices
28393621779, A HBAN B &0 Aradad Sr{e3Fen 5°¢, I Dradsd Sr(edSen 57

A and B are any two non zero matrices

58393621780, A DO B en ZT° Boch &35S Sr(edsen

Question Number : 6 Question Id : 2839365446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Ifadi|-1 1 -2|=[1 1 0 |,then mtn =

L 8 2 5 m =2
adji|-1 1 =2|=|1 1 0 | eoocns, oy m+n =
0 2 1 -2 -2 n

Options:

28393621781, % 2
28393621782, ¥ =3
28393621783, ¢

28393621784, % =

Question Number : 7 Question Id : 2839365447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

0 3 : 2 1 2023 .
If A= i and f(x)=x+x"+x + ...+x" then f(A4)+] =

03
A :L} {J DOAW [ (x)=x+x7+x"+ .+ 2T 0ONS, @YD f(4)+] =

Options:
{U 0}
28393621785, # 00
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28393621786. # [

. 3

28393621787. ¥ {

i
28393621788. # 11

1 3
0 0

Question Number : 8 Question Id : 2839365448 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=l den Z["

n=0

i=v-1 eond, Z(%]

n={]

Options :

Q-3
28393621789, % 10

28393621790, ® 9 —3i

28393621791, ¥ 9+3i

Q43
28393621792. ¢ 10
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Question Number : 9 Question Id : 2839365449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(] + _)EI'IIES
If f':\/'——l then Arg kit S

A2022

| —i

I i E}JUJF

i=v-1 wond, Arg (—“ =

1—1
Options :
-
28393621793. ¢ 4

x
28393621794, ¥ 4

3T

28393621795. ¥ 4

-3

28393621796. ¥ 4

Question Number : 10 Question Id : 2839365450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- L
=2, where z=x+iy, is
Z+1i

The locus of z such that

z—1

Z=X+1y ©®0DNYID

z41

=2 ©TDHENS) z T8y DO HES0 gcouegeduniag



Options :

28393621797 ¢ 3x* +3y° +10y+3=0

28393621798, % 3% —3y"=10y-3=0

28393621799. # 3x* +3y° +10y-3=0

28393621800, % X +V —3y+3=0

Question Number : 11 Question Id : 2839365451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

: T .. I =
If X =cos—+isin—,then | |x =
n 2;1 ?.u i

o =]

=}
# o J
— 41 sin—, @ONB, )¢ HIH =

xﬁ' = n n
2 2

n=I

Options :
28393621801, # 0
28393621802 % |

28393621803, ¢ -1

28393621804, # i
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Question Number : 12 Question Id : 2839365452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the roots of the equation z* —i =0 are @ and 4, then | Arg f - Arga|=

z* =i =0 DN¥GE0 GIE) Srenen a HO B e @ond, | Arg f- Argal=

Options :

28393621805, % 27

T
28393621806, # 2

28393621807. ¢ T

3
28393621808, ¥ 4

Question Number : 13 Question Id : 2839365453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If x*+ 2px-2p+8 >0 for all real values of x, then the set of all possible values of p 1s

X ODE) 198 TR Jend & 1 +2px-2p+8>0 0w, )¢ p § FG0ahs ©)
NI Raded
Options:

28393621809. # ( 2, 4]

28393621810, % (~—4)
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28393621811, % (2®)

28393621812.v’(_4‘2]

Question Number : 14 Question Id : 2839365454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
x+3

(x=1)(x+2)

ax+ fiy+1=0 on the coordinate axes is

If R~(a, f) is the range of

, then the sum of the intercepts of the line

x+3

(x-1)(x+2)

T @08 poe Fntho

Options:

Q) 52 R—(a, f) wows, @) ax+ fy+1=0 09 AGrdHs @50

28393621813, # -8
28393621814, v 10
28393621815, ¥ O

28393621816, % 9

Question Number : 15 Question Id : 2839365455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

,
gcollegedumas
India’s largest Student Review Platform



The quadratic equation whose roots are sin” 18° and cos’ 36° is
sin’ 18° 0805 cos’ 36° @ Sarerenm $ORS 58 HEdsmo

Options :

28393621817 # 16x° =12x=1=0
28393621818, * 16x" —12x+4=0
28393621819 ¢ 16x" —12x+1=0

28393621820, * 16x* +12x+1=0

Question Number : 16 Question Id : 2839365456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The roots of the equation x* + x* —4x* + x+1=0 are diminished by h so that the transformed

equation does not contain x term. If the values of such hare @ and £, then 12(a - f) =

XA+ x41=0 DDEGETR) x¥ G0 BA HDDEER0T Erarosto ToTLED e
NaEe0 GE) Sirered h T $fowrd. 2troed h § fo denden a SO f ©ons,

12(a-p) =

Options :

28393621821, ¢ 37
28393621822, % 25

28393621823, * 105
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28393621824, # 115

Question Number : 17 Question Id : 2839365457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

a, B,y are the roots of the equation x* +2x” —x-2=0 then ¢+ "+ "=

a, B,y © DNEG0 x* +2x" —x-2=03wE) rered o + 0+ y°=

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

28393621825, 3
28393621826, 129
28393621827, 08

28393621828, 192

Question Number : 18 Question Id : 2839365458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The number of diagonals of a polygon 1s 35. If A, B are two distinct vertices of this polygon,
then the number of all those triangles formed by joining three vertices of the polygon having
AB as one of its sides 1s

2.8 0330 2025 DEYSwe Ho; 35. A, B en & 235002 B3nE), Boch DS WS, &
2:50202 T0E) e FISNO EeIT BT (Behesne & AB 2z ke
|S32hEne) Ho;

Options :

28393621829, % |
28393621830, ¥ 8
28393621831, * 10

28393621832, % 12

Question Number : 19 Question Id : 2839365459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

There are 10 points in a plane, of which no three points are collinear except 4. Then, the
number of distinct triangles that can be formed by joining any three points of these ten
points, such that at least one of the vertices of every triangle formed is from the given 4

collinear points is

2.8 00 SR 10 oIS 4 DS &) S Dodeyen SBDairenss). & 10
)00 P DOKHO5 EODSYIE DBIBS (S (B0 Ty FWSwerd
00 2,563, 3 Trenk) DBDAH oo 00G GOTENT IEITE O,
|©92D200 A0S

Options :
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28393621833, ¥ 80
28393621834, * 100
28393621835, ¢ 20

28393621836, % 116

Question Number : 20 Question Id : 2839365460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A student is asked to answer 10 out of 13 questions in an examination such that he must
answer atleast four questions from the first five questions. Then the total number of possible
choices available to him is

28 30 2.8 H63S D)% 13 (H3) 08 3nced ©and [H9)0 Sod Eddo et

91 ©8) DSPETH0 B F0S0 10 (33105 NSPErd0 Bar ). @s8 FriNa o
D0EE) VOV

Options :

28393621837, % 180
28393621838, * 176
28393621839, # 286
28393621840, ¥ 196
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Question Number : 21 Question Id : 2839365461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If (¢, c) is the set of all values of x for which the expansion of ( 7-5x ]_% is valid, then 5c+7=

(-c, ¢) @30 (7-5x ]_% D8] ARGED TOVEPEN BTN &ed) X 05, B NSO
NS BN, @510 5c+7 =

Options:

28393621841, % 0
28393621842, # 12
28393621843, * 41

28393621844, ¢ 14

Question Number : 22 Question Id : 2839365462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

n

If n is a positive integer and /{n) is the coefficient of x" in the expansion of (1+x)(1-x),
then f(2023)=

n 28 sy grossn B (1+x)(1-x)" dYGeS’ x" Gy hesko fin) @owd,

@03 )08 1(2023) =

Options :

28393621845, % -2021

2022
28393621846, ¥ M collegedunia



28393621847, % 2023

28393621848, % -2023

Question Number : 23 Question Id : 2839365463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

v o 9 AT
If y=—+—+
" 4 48 438.12

+... 10 00, then

3 ‘35 357
=—+—1+
4 48 48.12

y +... 10 0 @OV, @)
Options :

28393621849, # ¥V —2y+5=0
28393621850, v ¥ +2y-7=0
28393621851, % V ~ 3y+4=0

28393621852, % ¥V +4y—=6=0

Question Number : 24 Question Id : 2839365464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

,
gcollegedumas
India’s largest Student Review Platform



3x+2 A +B_T+C'
(x+l)(2x3+3) 41 243

If ,then A-B+C =

3342 _ A Bx+C
(x+1)(24*+3) x+1 2x*+3

oS, @I A-B+C =

Options :

28393621853, ¥ 2
28393621854, # 1
28393621855, % 3

28393621856. % O

Question Number : 25 Question Id : 2839365465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The period of the function f(x)= goslsn) +( tan :r)?’ —cosec(3x—5)is
£(x) =¢85 4 (tan x)’ —cosec (3x—5) Hbaho oE; B850
Options :
28393621857, % 7

T
28393621858, # 2

28393621859, ¥ 27
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2
28393621860. ¥ 3

Question Number : 26 Question Id : 2839365466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If c{)sf?=;3 and ﬁri(?{E—X,lhcn tan£+sin£+2cusﬁ=
5 2 2 2 2

e

cuséi:_?s é}:ﬁaﬁ:@zrc:f}{%r SO0, €9:))C tang+5in§+2msg=

Options :

28393621861, % -1
28393621862, % 1

28393621863, ¢ 2

28393621864, % 2

Question Number : 27 Question Id : 2839365467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If sin2@ and cos2@ are solutions of x* +ax—c =0, then

X tar—e=0 JDESTAE sin 26 HOCH cos20 €0 AN BONS, ) IR

Options :

,
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28393621865, % @ —2¢—1=0
28393621866, ¥ 4 +2¢—1=0
28393621867, ¥ @ +2c+1=0

28393621868, % @ —2¢c+1=0

Question Number : 28 Question Id : 2839365468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ifx=log(y++y?+1)theny=

x=log(y +y*+1) @00y =

Options :

28393621869, # tanhx
28393621870, % cothx
28393621871, ¢ Sinhx

28393621872, # coshx

Question Number : 29 Question Id : 2839365469 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : Non« ~

: N.A Think Time : N.A Minimum Instruction Time : 0 gcollegedunias



Correct Marks : 1 Wrong Marks : 0
In ABC,if a:b:c =4:5:6, then the ratio of the circumradius to its inradius is

MBC & a:b:c =4:5:6 0@, o H0:5y8 TG0 HOAN ©0SEHyS FsrTe A8

Options :

28393621873, ¥ 1617
28393621874, % 25:11
28393621875, % >4

28393621876, % 93

Question Number : 30 Question Id : 2839365470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The perimeter of a A4BC is 6 times the arithmetic mean of the values of the sine of its

angles. If its side BC 1s of unit length, then /4 =
2.8 82020 ABC T0¥) tHERFO, TR Fere e ende Tng), @080 5ras eddew
0. I ZHzsin BC Tgy e 1 e &o®, o)th Z4=

Options :

b
28393621877. ¢ 6

W |y

28393621878, #

b
28393621879, ¥ 2
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28393621880, # T

Question Number : 31 Question Id : 2839365471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If |E' =4, |5| =35, |&—e?1 (=3 and @ 1s the angle between the vectors @ and b, then cot’ O=

la|=4,|b|=5 |a—b|=3 HOCW a,b HOI HS; fie) Fevo § WS, ) cot’ 6=

Options :

=)

28393621881. #

L |

28393621882. *

& |w

28393621883. #

16
28393621884, ¢ 9

Question Number : 32 Question Id : 2839365472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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IfA(1,2,3),B(3,7,-2),C(6,7,7) and D(-1, 0, -1) are points in a plane, then the vector
equation of the line passing through the centroids of A4BD and AACD is

A(l,2,3),B(3,7,-2),C6,7,7) snbadsn D{-1,0,-1) ex 2.8 005 Dosyen o,
A4BD 58050 A4CD © Zoderare How SFad H&¢ B Ty ST Havddeo

Options :

28393621885, ¥ ;=(2’:_~})H{}+4E]

58393621886, v ' =(1+1)i+3j+31k

J63936 1857 ¥ :(25'+3}+3})+.f[}.'+ 3})

28393621888. # ;:(}+}+E]+r(2;_})

Question Number : 33 Question Id : 2839365473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a+b+c=0, E|:3.|5|=5, F|=?,thentheangiebetween a and b is

a+b+c=0, |a|=3,|b|=5,[c|=Teoond, a, b & ;S0

Options:

o | A

28393621889. #

+ | A

28393621890. #

s
28393621891. ¥ 3
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T
28393621892. # 2

Question Number : 34 Question Id : 2839365474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If 2?—}+3E, - 125—_}—3]1 i+ 2}—4E and Ai + EE—E are the position vectors of four
coplanar points, then 4=

2i— j+3k,~12i— j-3k,—i+2j -4k, Ai+2j-k e e SSOH Hochye

FINOITS, @) 4 =

Options :

28393621893, % 9
28393621894, ¥ -2
28393621895, % O

28393621896. ¢ 0

Question Number : 35 Question Id : 2839365475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Let a=i+2j-2k and b=2i- j-2kbe two vectors, If the orthogonal projection vector of aon

his x and orthogonal projection vector of b on ¢ is y then |x-y|=

a=i+2j-2k SO0 b=2i-j-2k 0 B0t HOTOK0E0. b 3 ¢ T} ©od
DENNOF x B0 @ 3 b g 02 DFHGT y eowd, @Y [x-y|=
Options :

2 Jio

28393621897. ¢ 9

4 26

28393621898, # 9

%ﬁﬁ

28393621899. #

8 /%

28393621900. ¥ 9

Question Number : 36 Question Id : 2839365476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The variance of 50 observations is 7. Suppose that each observation in this data is multiplied by 6

and then 5 1s subtracted from it. Then the variance of that new data s

50 309050 DY 7. HT0F0S R 19 HBIDS 6 T HBOIT S TR 008 5
SNFTEDLH0TF0. 998 & §d SFom Bk DY

Options :

28393621901, ¥ 37

28393621902. % 42 M collegedunia



28393621903, % 247

28393621904, ¢ 252

Question Number : 37 Question Id : 2839365477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A bag contains four balls. Two balls are drawn randomly and found them to be white. The
probability that all the balls in the bag are white is

2.5 500 T 20RO G0, T H0G Boc 200 ArEIDIZ0T SOHIT &
BodT BOAD 9 LT 8. € DS &) ©9)20e) BRAD FHEAE N02rdze

Options:
3
2

28393621905. #

3
28393621906. ¢ 5

1
28393621907. ¥ 4

2
28393621908, ¥ 3

Question Number : 38 Question Id : 2839365478 Question Type : MCQ Option Shufflina : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : Non« gc_ollegedunias



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the coefficients a and b of a quadratic expression x* +ax+ b are choosen from the sets
A={3,4,5} and B={1,2,3,4| respectively, then the probability that the equation

x* +ax +b =0 has real roots is

2 ax+b O S e SR He9sen a SHBCH b & & SHNT 4= '3.4,5} Q805

B={1,2,3,4} da0e3® H0A JothBo®), ) 1’ +ax+bh = 0 HaDEIETVS 1A

SPereN GOBOHE e 0T seh

Options :

o

28393621909. # O

= WY

28393621910. ¥

W

28393621911. #

—
2

28393621912 #

Question Number : 39 Question Id : 2839365479 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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A random variable X has the following probability distribution

X=r 1 [2 [3][4 [5 6 [7 |8
P(X=x) | 015023 |k[0.10|0.20] 0.08]0.07 | 0.05

For the events £ ={x/x isa prime number} and F={x/x <4} then P(E UF)=

2,8 Airdy0 )8 doord X, & (808 J02rs e dzraara) §60° Gsod

X=x 1 [2 [3[4 [5 Je [7 T8
P(X =) | 0.15[0.23]k[0.100.20] 0.08 | 0.07 | 0.05

E={x/x o0 8105 dops} HOAM F={x/x<4} sv&d08 P(EUF)=

Options :

28393621913, # 0.57
28393621914, % 0.87
28393621915, ¢ 0.77

28393621916, * 0.35

Question Number : 40 Question Id : 2839365480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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5 persons entered a lift cabin in the cellar of a 7-floor building apart from cellar. If each of
them independently and with equal probability can leave the cabin at any floor out of the 7

floors beginning with the first, then the probability of all the 5 persons leaving the cabin at

different floors 1s

B TR0 7 5 e o P30 TE) VD O &) O DS SR8 eandoid
H58e (HST0TD. TOES (HB A8 D s5olSor Fncied F6 Hod 7 6 o' ) &6
' O DS H08 20HEH THEIE DTS D05 GO, 8 LoNkIHEr
388 ©08WOS TS D& Ko Hozrdse
Options :

360
28393621917. ¢ m

28393621918, ¥ 54

28393621919, # 71

28393621920, # 18

Question Number : 41 Question Id : 2839365481 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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If a point P moves so that the distance from (0, 2) to P is s times the distance of P from

N

(-1, 0), then the locus of the point P is
1

2,8 20c0Y P, (0, 2) hod P & fie &S¢0, (-1, 0) Shod P 8 ey &roerd 7
?

oe
&0 VBN GOB), @))¢0 P 3wy, Dodh Hdo
Options :

a circle with centre (1, 4) and radius 10 units
8393621921, % (1, 4) So(&or, arsr@o 10 COTAER™ Ko 2.8 S0

a circle with centre (-1, -4) and radius +/10 units

28393621922, % (-1, -4) So(cor, 580 V10 SHrER™ e 2.8 S0

a circle with centre (1, 4) and radius /10 units

28393621923, v (1, 4) Bolom, ars@rgo V10 Shrdent e .8 Syso

a parabola with focus at (1, 4) and length of latus rectum 10 units

28393621924, #

(1, 4) &2 DB T°8) ©020 &P 10 Chrde™ fe) 2.8 DTrseadho

Question Number : 42 Question Id : 2839365482 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Let d be the distance between the parallel lines 3x-2y+5=0 and 3xr—2y+5+2413 =0.
Let LIESY—21’+k =) (k >0)and L, =3x-2y+k, =0(k, > 0) be two lines that are at

the distance of fmm the line 3x-2y+5=0. Then the combined equation of
i~ 5

the linesLi=0and Ly =01s
3x-2y+5=0 00 3x—2y+5+2413 =0 ©F HSrosd Bae His &rdo d
905050, LIESY—21-'+1( =0 (k, >0) 00 L, =3x -2y +k, = 0(k, > 0) &)

3x-2y+5=0 B od —Knéoﬁn &5“0‘&)(’36 £ed) D0ch BDODF0T0. 951

TR T

L1 =05805 Ly =0 820 Hdoaing Hané&eo

Options :

28393621925, v (3%~ 2y) +24(3x-2y) +143=0

28393621926, % (3¥—2y) +8(3x-2y)+33=0

28393621927 * (3x—2y) +12(3x-2y)+13=0

28393621928, # (3x-2p) +12(3x-2y)+1=0

Question Number : 43 Question Id : 2839365483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If (h, k) is the image of the point (3,—4) with respect to the line 2x-3y-5=0and (I,m)

is the foot of the perpendicular from (h.k) on to the line 3x+2y+12=0,then /h+mk +1=
2x-3y-5=009 B9ars Dotey (3,—4) Ty} 1De3ddoao (h, k) 80k (h, k) svod

3x+2y+12=0 0% B wo2rd0 (I,m) wond, 1h+mk+1=

Options:



28393621929, ¢
28393621930, ¥ 34

28393621931, ¥ 34

28393621932, % -3

Question Number : 44 Question Id : 2839365484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A straight line parallel to the line y = /3 x passes through Q(2, 3) and cuts the line

2x + 4y — 27 = 0 at P. Then the length of the line segment PQ is

0(2,3) Dok o Fér y = 3 x Bpd darosdor &od B, 2x +4y —27 =0
Bed P 5O 20400, @) PQ Bar 0G0 P

Options :

28393621933, % 2V3 + 1
28393621934, % V3 +1
28393621935, v 2V3 — 1

28393621936, % V3 — 1
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Question Number : 45 Question Id : 2839365485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ifaline ax+2y =k forms a triangle of area 3 sq. units with the coordinate axis and is

perpendicular to the line 2x-3y+7 =0, then the product of all the possible values of kis .
28 008 B ax+ 2y =k, ArHsTod 3 . Ahr. FFez0 Ko B2H2R) 85006
B0 2x-3y+7=0 ODH ©OOT GOV, k § 0095 @) denser &0

Options :

28393621937, ¢ =36
28393621938, % 36
28393621939, % 04

28393621940, % 64

Question Number : 46 Question Id : 2839365486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The orthocenter of the triangle whose sides are given by x + y + 10 = 0,

x—y—2=0and2x+y-7=01s
X+y+10=0,x-y—2=000050 2x +y -7 = 0 &) D200 25520 (202850
a3, ©02) 30|80

Options :

» (A3
28393621941, % ( ) M collegedunia



28393621942, ¢ (—4,—6)
28393621943, # (4, 6)

28393621944, * (3, 6)

Question Number : 47 Question Id : 2839365487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For / e R, the equation (2/—3)x* +2lxy— y* =0 represents a pair of distinct lines

leR 82508880 (21-3)x* +2hy—y* =0 2.8 DS Bpe M) Srdosd
Options :

only when /=0
28393621945, % [ =0 ©0NSHE S

for all values of [/ € (-3,1)
28393621946, % ! € (—3,1) 00§ @) JenHOE

for all values of /e R —(0,1)
58393621947 % 1€ R —(0,1) e98ds ed)endesy

for all values of / e R—[-3,1]

58393621948, v | € R—[-3,1] @835 &0 Denseso

Question Number : 48 Question Id : 2839365488 Question Type : MCQ Option "
gcpllegedumag



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If the parametric equations of the circle passing through the points (3, 4), (3, 2) and

(1,4)is x=a+rcosf, y=b+rsinf then br* =

(3,4), (3, 2) 5805 (1, 4) Doy KHoETFodh 2.8 Sydan Ty HTHSoH HebEse0
x=a+rcosh, y=b+rsinf NS, @b =

Options :

28393621949, % 9
28393621950, ¢ 18
28393621951, % 27

28393621952, % 4

Question Number : 49 Question Id : 2839365489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A tangent PT is drawn to the circle x*+ y? = 4 at the point P(\E.E)‘ If a straight line L
2 ;

which is perpendicular to PT 1s a tangent to the circle (.r—3] +'1»'2 =1, then a possible

equation of L is

¥ 4y =4 398 P(V3,1) Dockish $¢ PT & )8) Bk hieréh. PT § womorr

GN) ‘L’ oF Q60 (J.'—.’J)2 F37 =1 59808 2.8 58 B wowd, &) ‘L’ %
S8 DB 2.8 Dev&de0

Options:
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28393621953, v ¥ —V3y =1
28393621954, % X—3y =4
28393621955, % X—V3y =~-I

28393621956, % X~ V3y =17

Question Number : 50 Question Id : 2839365490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the angle between the pair of tangents drawn to the circle x* + y* =2x+4y+3=0 from

the point (6,-5) is @, then cotf =

(6,-5) Doy 0B x*+y* =2x+4y+3=0 S928 HAS 96 Barohufizen sucdsie

80 0 NS, @ cotd=

Options :

8
28393621957. ¥ 15

]
28393621958, # 4

28393621959, % 4

15
28393621960, ¢ &
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Question Number : 51 Question Id : 2839365491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I the angle between the circles x* +y* —4x—6y+k =0 and x* +y* +8x—4y+11=0 is

T " 3
E. then the value of & is

4y —4r-6y+k=0 000 x* +17 +8r-4y+11=0 98 Hedste Feao %
0NS, @) k denad

Options :

28393621961, ¥ -3
28393621962, ¥ 3
28393621963, ¢ -1

28393621964, % 13

Question Number : 52 Question Id : 2839365492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

4

The radius of a circle touching all the four circles (x+ i]: +(yxd) = A s
(Jririt}2 +(yiw1)2 = 1’ oF Tl SyT o0 519303 0.8 SySS0 Bk FRrdo

Options :

28393621965, % 2v/24
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- 1];.
28393621966. (

(2++2)4

28393621967. #

(2-43)

28393621968. #

Question Number : 53 Question Id : 2839365493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If the radical centre of the given three circles x*+ % =1, x* + 3" =2v-3=0 and

x*+ 91 =2y-3=0 is C(a, B) and r is the sum of the radii of the given circles, then the
circle with C(a, p) as centre and r as radius 13

D)0 SR S9Te ¥+ 71 =1, ¥ 437 -20-3=0 00w 1+ -2y-3=0 I,

Sregodo C(a, B) HOaw G Syre airge Indo reowa Cla, ) Toldom, 1
TGO §o) 89968 a0

Options :

28393621969, * (X—D* +(y—1)* =2

58393621970, % (x=1D7 +(y+1)* =
58393621971, % (x=2) +(y=2)* =25

2 2
28393621972, ¢ (X +1)" +(y+1)" =25
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Question Number : 54 Question Id : 2839365494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x-2y+k =0 is a tangent to the parabola y* —4x—4y+8=0, then the value of k is
¥ —4x-4y+8=0 S0H00rN8 x-2y+k =0 28 H)8) 52 wond, e k s}
RSN

Options :

28393621973, % 2

2
28393621974, % 3

28393621975. ¢ 1

28393621976, % —7

Question Number : 55 Question Id : 2839365495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the points of intersection of the parabolas y* =5x and x* =5y lic on the line L, then the
area of the triangle formed by the directrix of one parabola, latus rectum of another
parabola and the line L is

1 =5x L0050 x* =5y Hode0sre Hodd Dodyen GO $&¢ B L eond 2.8

NTHOON0 Ty, AL, HOGNE HTHL0H0 GBE) TR0 LB B9 L 3
206)3 (8292 FTos0
Options : Qcpllegeduniag



28393621977, % 32

28393621978, # 23

o
oo |

28393621979. ¥

25
28393621980, ¥ 32

Question Number : 56 Question Id : 2839365496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
, . A B ‘
[f the line x cosa + ysina = 243 isa tangent to the eIhpseE + ke 1 and @ is an acute
angle then @ =

2 2
j-ﬁ*?% = 1 A8 S9@D8 xcosa+ysina = 243 ©F H6¢ B2, 2& 538 B O @ 2.8

Oa SR8 o) a =

Options :

| =

28393621981, # 6

£y

28393621982, ¥

"
28393621983, ¥ 3
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"
28393621984, % 2

Question Number : 57 Question Id : 2839365497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If x++/3y=3is the tangent to the ellipse 2>+ 3y” = k at a point P then the equation of the
normal to this ellipse at P is

2004397 =k OF 59208 2.8 Doy PG x++3y=13 08 B eows, P 3¢ &

B85 TRE edeoa B2 Nanideo

Options :

S5x—243y=1

28393621985. #

i gy
28393621986, ¥ * V3y =2

28393621987, # x =3y +1=0

28393621988, ¥ X V3y=1

Question Number : 58 Question Id : 2839365498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the angle between the asymptotes of a hyperbola is 30° then its eccentricity 1s

28 @98 DTS00 T N0 H)8;80e HEH$80 30° o TR &&)00 gcouegeduniag



Options :

28393621989. # V5 -2

28393621990. # V6 -3

28393621991, # V5 -3

28393621992. ¥ V6 — 2

Question Number : 59 Question Id : 2839365499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a triangle ABC, if the mid points of sides AB, BC,CA are (3,0,0),(0,4,0),(0,0,5)

respectively, then AB? + BC? + CA? =

(8255230 ABC S, Zhasnen AB, BC, CA © 585 Dodusyen SEam
(3,0,0),(0,4,0),(0,0,5) @{:m@‘, 295308 AB* + BC? 4+ CA* =
Options :

28393621993, % 50

28393621994, % 200

28393621995, % 300

28393621996, ¥ 400
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Question Number : 60 Question Id : 2839365500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If {, m, n and a, b, ¢ are direction cosines of two lines then

[, m, n 00AW a, b, ¢ e Both HEF Tpe HF FRm e ®ons

Options :

they are parallel when la + mb +nc =0
28393621997 # @+ mb + nc = 0 ®aNIYD D OarodTren

1 [ m n
they are perpendicular when —=-—=—
a b c

I m n
— = — = — 2900M6)CD &) DOWOTT OLTON

28393621998. % @ b ¢

the direction ratios of the bisectors of the angles between the two lines are

[tamtb nte

[tamtb,ntc eneBPe NS GO 5 DB sD0cS Do &F
28393621999, v VOBV

the direction ratios of the bisectors of the angles between the two lines are
la, mb,nc

28393622000, % 1@ Mb,NC €0 & D 0G5 Koy §ea DB 5205 Dpe OF Homsen

Question Number : 61 Question Id : 2839365501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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If(2, -1, 3) is the foot of the perpendicular drawn from the origin to a plane, then the

equation of that plane 1s

SO0 DO 2.8 00 28 A ©02) FA0 (2, -1, 3) ®ONS, & S0 TnE),

NaEBE0
Options :

28393622001, # 2X+y—3z+6=0
28393622002, ¢ 2X—y+3z—-14=0
28393622003, # 2X—y+3z-13=0

28393622004, % 2X+y+3z—-10=0

Question Number : 62 Question Id : 2839365502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
l [y

lim— Y (k*x) =

= 1]3 ;( )

Options :

28393622005, # X
X
28393622006, ¥ 2

X
28393622007. ¢ 3

28393622008. * M collegedunia



|~

Question Number : 63 Question Id : 2839365503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The quadratic equation whose roots are / = lim { Ising—4sin" ¢ J and
; 2tand :
m=lim| ——— | is
et ﬂ(l—tan‘f?)
a ]iln[35"”(}_4b"‘ 0] 0% m =1lim “zm—nﬁ:“‘ O darerenr KOS S5
-0 0 f-0 H(I—IBH'H)
SHelle
Options :

28393622009, ¢ X —5x+6=0
28393622010, % X +5x+6=0
28393622011, % X" —5x—6=0

28393622012, % X" +5x—6=0

Question Number : 64 Question Id : 2839365504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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On differentiation if we get f(x,y)dy-g(x,y)dx=0 from 2 -3y +y  +x+2y-8=0

82.2)
S

then

@000 T 2¢° =3+’ +x+2y-8=0 0& f(x,y)dy-g(x,y)dx =

sy 82D
aI(8Y

Options:
11
28393622013, % 7

28393622014, ¢ —3

—1
28393622015. ¥ 3

28393622016, % 7

Question Number : 65 Question Id : 2839365505 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If £(x) =", h(x) = (fof) (3), then -2 =
1(x)
- = W (x) _
fh] e f:—*{r] {fﬂf}(‘i} @DJJ§
h(x)

Options:

28393622017, % A(x)

28393622018, % (*)
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28393622019, ¢ log/i(x)

28393622020, ¥ —log/A(x)

Question Number : 66 Question Id : 2839365506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. , dy
If sin vy =sin 3t and x =sint, then ﬂ'; -
X

Options :

3

28393622021, % V4—x’

3
28393622022, ¢ V1—x"

1

28393622023, % V4—x

-1

28393622024, ¥ V4—x*

Question Number : 67 Question Id : 2839365507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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If a line having slope 2 is a tangent to the curve y=x" - 6x' +13x* —12x+5 at points

P(x,,y)and O(x,,y,), X,,X, € N then xx,—y,y, =

Fen 2o B, y=x'—6x"+13x" ~12x+5 508 P(x,,y,) S0Aw O(x,, )

é’.)DEf)JSé)EJ Sﬁ@ ':‘\’J:;é,}am @@éjol f“.]\-r] = N’ £l-l-L:""::}:)‘:'ar @:@jé‘) 'J‘.I'x.‘_ _ -VI-I:E =

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

28393622025, 1 7
28393622026. 3
28393622027, — 17

28393622028, — 13

Question Number : 68 Question Id : 2839365508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Let m be the slope of the normal L drawn at (1, 2) to the curve x=t*~7t+7,
y=t'~4t-10 and av+by+c=0 be the equation of the normal L. If G.C.D. of (a.b.c)

is 1, then m(a+b+c)=

=t =Tt47, y=t' —4t-10 J38 (1, 2) Doy 5 AdS @Dooa B L &30%) aen
m 005 & e9e02d L 28880 ax+by+c=0 eddomro. (a.b,.c) Gog)
frer | oand m(a+b+c)=

Options :

28393622029, ¥ 8

- 64

28393622030. ¥
28393622031, % — 8

28393622032, ¥ 3

Question Number : 69 Question Id : 2839365509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the function f(x)=xe",xeR attains its maximum value £ at x = ¢ then (@, f)=
f(x)=xe",xeR (D0Dho A £0R Jensd fo& x=a @ Foda (a,f)=

Options :

|
(25 _}
28393622033. # €

|
(1,-) )
28393622034, ¢ € collegedunia;



-1
(=)
28393622035, # €

]
(—, ]}
28393622036. * €

Question Number : 70 Question Id : 2839365510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

50 2
(f j x lel (x” }d.,' =k[Tan'1(Im}}h+‘3 , thenk =

I t]I]

J- x*Tan" (x™)

(1)

Options:

dx = 1-1('I';sul"{f“))j + ¢ @O, @) k =

28393622037, % 100
28393622038, ¥ 30
28393622039, ¥ 50

28393622040. ¥ 100
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Question Number : 71 Question Id : 2839365511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
. 6
k. X 2 " S
If I (logx) x° dk= E[B(ln:)g x)" +C(logx) +D(log x)-1|+k and A, B, C, D are

integers, then 4 —(B+C+D)=

3 6
J(log) df:%[B(logx)3+C(10gx) +D(log x)-1]+k 00$» A, B, C, D &
Trosen @ond 4 —(B+C+D)=

Options :

28393622041, % 172
28393622042, # 184
28393622043, v 192

28393622044, % 216

Question Number : 72 Question Id : 2839365512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
dx

‘.‘[:{: + I)(f +4} -

Options:

lTf,-m t+1Ta11 (
6 \ 2

ba | =
\_\___"_,..-r"

28393622045. #
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l Tem_]ﬁc—lTan_1 [£]+c
3 2

28393622046. #

l T an_lx—l-% Tan™ [ - J-I—r:

(R

28393622047. ¥

l Tan ‘v — l Tan™ (
28393622048, ¢ 6

]+c

b | o=

Question Number : 73 Question Id : 2839365513 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

dx
3 2
(x—1)a (x+2)4
Options :

4[ x-1 ]4
= +¢
28393622049, ¢ 3\ x+2

3 ( i | JE
—| —| +c
28393622050, ¥ 4\ x—2

4 ( x+2 ]4
= +£
28393622051, % 3\ x—1

|
3 ( N JE
= +c
28393622052, % 4\ x—1
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Question Number : 74 Question Id : 2839365514 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
|
j x|,1't dx =
E

Options:

28393622053, % |

]
28393622054, ¥ 2

28393622055, ¢ 0

[-3

28393622056, % 3

Question Number : 75 Question Id : 2839365515 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

sin® xcos® x (sinx+cosx)dx =

r-._:|| :|-I !.—.|,__;| =

Options :

-2

28393622057, % 3
gcollegedunias



3

28393622058. # 10

4

28393622059, ¢ 19

5

28393622060. # 18

Question Number : 76 Question Id : 2839365516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area (in square units) of the region bounded by the curve y =|sin 2x| and the X-axis in

[0,22] is

[0,27] & y=|sin2x| S8 HOAW X-e9§ 0T 0TS [0S0 Ty,

3750 (5. CrIES)

Options :

28393622061, % 0
28393622062, % 3
28393622063. ¢ 4
28393622064, % |
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Question Number : 77 Question Id : 2839365517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If I(Sf —4_r+2] dx =k , then an integer root of 3x* —4x+2 z% s

0

3

i 3 3
I[S:{‘ —4x+ 2) dx =k eona, 3x" —4x+2 :%{- Qw8 2.8 oJ°T 08 re0

0

Options :

28393622065, % |
28393622066. * 0
28393622067, % 15

28393622068, ¢ ~|

Question Number : 78 Question Id : 2839365518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the order and degree of the differential equation corresponding to the family of curves

2 . . 4
yi= 4(;(.r+a) (@ 1s parameter) are m and n respectively, then m+n"=

' =4a(x+a) (a H070E) ADEGEI0 AFOT S50 K0e02rA8 Ko ©N0E BIELS

QEBEI0 TBE), DBSTE0, SBHSIEN SEM M O n WONS, @ m+n’ =

Options :

28393622069, ¥ 3
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28393622070. ® 4

28393622071, ¢

28393622072, % 2

Question Number : 79 Question Id : 2839365519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f the solution of the differential equation ﬁ: i, 1S y=xtan (f(x))+cthen f(x)=
dx 3x-2y ' '
o 2x43y
I’fi: 253 8965500 anEBEd P y=xtan (f(x))+c @B, f(x)=
dx 3x-2y
Options:

I = %
—log (x"+y7)
28393622073. ¢ 3

28393622074, ® (2x+3y)logx

X Ingi +_1-‘1
28393622075. # X

sin[x +1°
28393622076. # [ ! )

Question Number : 80 Question Id : 2839365520 Question Type : MCQ Option
collegedunia:
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation (x* +2)dy + 2xydx = e (x* + 2)dx is

@50 DGO (x* +2)dy + 2xydx = e' (x* + 2)dx BE), T ¢S

Options :

. . 4
—=e'(x"+x—-4)+c
28393622077. ¥ V

28393622078, % 23y =€ (x’ —2x+4)+c

28393622079, v (X" +2)y=e"(x" —=2x+4) +c

28393622080, ¥ (x* + 3}3_1-‘ =e*(x* +2x—-4)+¢

Physics
Section Id : 283936122
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
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Sub-Section Id : 283936122
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 2839365521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The ratio of the relative strengths of strong and weak nuclear forces is

D2 OG5 Au¥ie To|BE were arnd deEte A

Options :

13
28393622081, ¢ 10

26
28393622082, ¥ 10

30
28393622083, # 10

11
28393622084, % 10

Question Number : 82 Question Id : 2839365522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of significant figures in the measurement of a length 0.079000 m is

2,8 &rchey T0%) Serés 0.079000 m S’ ¢E Sopsen

Options :

28393622085, % /
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9

I

28393622086 #
28393622087, ¢

28393622088, # 4

Question Number : 83 Question Id : 2839365523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The acceleration of a vertically projected body at its highest reaching position is
2,8 09l AE) AENYT DB, @8 TO 0 a)eh) PO o5& TR €8 55820
Options :

0
28393622089, % FOT"Y

Equal to acceleration due to gravity at the place

3 (DTF0 S5O Ko DH0eh seb T8 DadTedo
28393622090. ¢

Infinity
28393622091, ¥ €050

=2
28393622092, % —1 1S

Question Number : 84 Question Id : 2839365524 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
A player can throw a ball to a maximum horizontal distance of 80 m. If he throws the

ball vertically with the same velocity, then the maximum height reached by the ball is

2.8 S 2.8 20a3 K000 80 m § 8323 D30 Brdo dddkerd. e
208 ©T K0S D) ANJT DNOB, & 208 T HO D8

Options :

28393622093, % 160 m
28393622094, ¥ 60 m
28393622095, ¥ 20 m

28393622096, ¥ 40 m

Question Number : 85 Question Id : 2839365525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a man of mass 50 kg is in a lift moving down with an acceleration equal to

acceleration due to gravity, then the apparent weight of the man is

H0eh 55 sEETRE DTSR & 58608 1B0AE Ehenshd) 2.8 @%eﬁa 50 kg |&d550°3
e o328 &ed)Lon®, @ 5:8 Tk S erdo
Options :

0
28393622097, ¢ COT°)

28393622098, ¥ 100 N
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28393622099, ¥ 25 N

28393622100, % O N

Question Number : 86 Question Id : 2839365526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
An engine is dragging a mass of 5000 kg with a velocity of 5 msT along a smooth

inclined plane of inclination 1 in 50. Then the power of the engine 1s

00 50 S 1 4 2,8 e Fende03 5000 kg 9:5:073R 5 ms? Shod 2.8 2028
HS0E. BN B BOBD Ty, nPt0

Options :

28393622101, ¢ 5 kW
28393622102, ¥ 2.3 KW
28393622103, # 10 kW

28393622104, % 25 kKW

Question Number : 87 Question Id : 2839365527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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A ball falls freely from a height h on a rigid horizontal plane. If the coefficient of
restitution is e, then the total distance travelled by the ball before hitting the plane

second time is

2.8 208 NI h ) 0B 180HE 2.8 GdRs 8z NSrosd S0 HAIE.
DESITSDEEO0 € eowed & Q) BoBr0 GER 5005 208 [Hosreio D Inedo

ardo
Options :

28393622105, % he”

.
28393622106, v h(1+2e7)
28393622107, * h(1-2¢)

2
28393622108, ® h(1+e’)

Question Number : 88 Question Id : 2839365528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The velocity of a particle having magnitude of 10 ms™ in the direction of 60" with

positive X-axis 1s

S s X- 0508 60° &3S 10 ms! 31 85780 EORS Seao XMy, Sto

Options :

28393622109, ¥ 21=3V3 ]

28393622110. ¥ Sﬁ =53]
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28393622111, # 5V3i+5]

28393622112, ¢ 21+ NER

Question Number : 89 Question Id : 2839365529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of the radii of two solid spheres of same mass is 2:3. The ratio of the moments

of inertia of the spheres about their diameters i3

Qe (35073 10> otk e Fere) 35T )8 2:3. 6 e o e
20 ¢ D50 da)e

Options :

28393622113, ¢ 49
28393622114, % 2:3
28393622115, % 8:27

28393622116, % 16:81

Question Number : 90 Question Id : 2839365530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The displacement of a particle executing simple harmonic motion is given by

x =2cos (t) where t is the time in seconds then the time period of the particle is

AGY P08 OO0 TR E0 BEY V25040 x =2c0s (f) T 99 30R08), Q& t
S0 VEHOES o & §80 T FoTddse0

Options:

28393622117, % T second
28393622118, ¥ 27 second
28393622119, % 37 second

28393622120, % 0.5m second

Question Number : 91 Question Id : 2839365531 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A man weighing 75 kg 1s standing in a lift. The weight of the man standing on a

weighing machine kept in the lift when the lift 1s moving downwards freely under

gravity is

75 kg 20508 o> 2.8 A 2.8 OP & doad ). HOE 538 SO VST
8068 §entHd) 28 O & &GOSR 2.8 210 FOT ALOS0 DA
OGS, 289 FOT oholdo Srdow 8&oh

Options :

28393622121, ¢ ZEro (Q0T°))

28393622122, % 10 kg
gcpllegeduniaé



28393622123, * 4.8 kg

28393622124, * 05.2 kg

Question Number : 92 Question Id : 2839365532 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The dimensions of four wires of the same material are given below. The increase in

length is maximum in the wire of

28 Ho§od Tahads Trenlh afe) Foden 1§od B jaEow. IS DG
KOO €50T &
Options :

Length 100 cm, Diameter 1| mm
28393622125, # &7¢a) 100 cm, 575000 1 mm

Length 200 cm, Diameter 2 mm
28393622126, ¥ &°Cay 200 cm, 00 2 mm

Length 300 cm, Diameter 3 mm
28393622127, # &'¢ay 300 cm, &°50w 3 mm

Length 50 cm, Diameter 0.5 mm
28393622128, v ¢ 50 cm, 5w 0.5 mm

Question Number : 93 Question Id : 2839365533 Question Type : MCQ Option Shufflina - Vac
Display Question Number : Yes Is Question Mandatory : No Calculator : Non« gcpllegeduniag



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cylindrical vessel, open at the top, contains 15 litres of water. Water drains out
through a small opening at the bottom. 5 litre of water comes out in time t;, the next 5

litre in further time t,, and the last 5 litre in further time t5, Then

2 2PHS0 BEDHODS 2.8 s (e 15 068 A $00:508. HAE 1808 v
&:9) 50550 TP 5T A w0HEE 08, 5§ OOY A& t; S0, $Nd 5§ O
DB ty Do 080 DO 5§ OLY D& t; TS 20HLK SR

Options:

28393622120. ¥ f1 = L2 < I3
28393622130, # L1 = 2 = 13
28393622131, % t1 = L2 =13

28393622132, % L2~ b1 = I3

Question Number : 94 Question Id : 2839365534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A cylinder of mass m and material density p hanging from a string is lowered into a

vessel of cross-sectional area A containing a liquid of density o (< p) until it 1s fully

immersed. The increase in pressure at the bottom of the vessel is

086 6 (< p) B0 2.8 | 3508 D0NDAS HAITIS T30 A o> 2.8 FSS 8 2.8
80 DFADOE |Ferhchcd), m (H::073 LHOAN p DI o6 fe 2.8 N0
18506 SO ST 585 (BoBE BoTE. 2F|e e PP DO S0
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Options :

28393622133, % Zero (Qoar))

28393622134, # A

mgp
28393622135, ¥ GA

mog

28393622136, ¢ PA

Question Number : 95 Question Id : 2839365535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Fahrenheit and Kelvin scales of temperature will have the same reading at a

temperature of

FOS 57 OGN TS i ferararen 2.8 8GR & EO8 &oT i

Options:

28393622137, ¥ —40°F
28393622138, % 313 °F
28393622139. ¢ 374.6 °F

28393622140, # 732.7 °F
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Question Number : 96 Question Id : 2839365536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f the ratio of densities of two substances 1s 5:6 and the ratio of their specific heat
capacities is 3:5, then the ratio of heat energies required per unit volume so that the

two substances can have same temperature rise is

B0 DT 0|35 AN 5:6 HO0KN ¢S DIFR NT5e A1) 3:5
©0Nd , Bot HTTOS 2.8 Gel|ied DEHEOK 25°0% SNBSFETVE SRS
G o Ad S

Options :

28393622141, % 1:1
28393622142, # 1:4
28393622143. ¢ 1:2

28393622144, % 1:3

Question Number : 97 Question Id : 2839365537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a process, the work done by the system 1s equal to the decrease in its internal

energy. The process that the system undergoes 1s

28 1HE0HS 5355 TR A TR @088 385 SHHOH NS0 OV, &8 5558
S (8%

,
gcollegedumag
India’s largest Student Review Platform



Options :

isothermal process
28393622145, % Varas (OEAD

adiabatic process
28393622146, v PORS (DEAD

isobaric process
w 5 o
28393622147, % N80 (D(SCW

1sochoric process

28393622148, % P QNBHED (HEAD

Question Number : 98 Question Id : 2839365538 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
N molecules each of mass m of gas A and 2N molecules each of mass 2m of gas B are

contained in a vessel which 1s maintained at a temperature T. The mean square velocity

of the molecules of gas B is denoted by Vﬂ and the mean square of the x-component

velocity of the molecules of gas A is denoted by V., then % is

2

2558 m |5550°7 e N eedaden fie) 8 arained A DO 2,558 2m |HS50°7
6> 2N @e0:3en (e oS0 B, T &el|ies ¢ GoaBS 2.8 TS 0. Fon)

B ©e0s3 Siiew S8 3o V; SH005 araine A eme diiew 3¢ x- ©oF SKo V!

Vv
oS, —=

Options :

28393622149, # 2
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28393622150, # 1

2
28393622151, % 3

| b

28393622152. ¢

Question Number : 99 Question Id : 2839365539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following statements, the correct statement for a wave is

1808 7¢3¢5° S80S HoDOAOD HOTDS TEFN

Options:

Transverse waves cannot propagate through all media

28393622153, % 355 dSomren @) AT HoE |1HOTFSE0 By

Longitudinal waves can propagate through solids only

28393622154, % @Rﬁhﬁégeﬁé(}ﬂ‘m DIDTTE Ho® :lﬁ“ljéﬁ& LYASTEI 0N

Transverse waves can propagate through solids

$8393622155, v S5 SSOMED DSJTTO 07 (HOreIOTHNOa)Y

Longitudinal waves can propagate through vacuum

28393622156, % BNBYs SSomren #rd30 o sor (DArosied
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Question Number : 100 Question Id : 2839365540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A source and an observer move away from each other with same velocity of 10 ms™
with respect to ground. If the observer finds the frequency of sound coming from

the source as 1980 Hz, then actual frequency of the source is

(speed of sound in air = 340 ms”)

HPRIN 2.8 2A%HN DB 2.8 D070F0 10 ms™” DTS oS 2,80 Hod

QOEEHD Ardorr Erendam) K. H83e%h 2580 Lok 5T3,) G5 Ty
FroeyareR)), 1980 Hz e W), 23880 Bng), sPded 2rdeedso

—n —al

(MO 50 $& =340 ms™)

Options :
28393622157. ¥ 1950 Hz
28393622158. + 2100 Hz

28393622159, ¥ 2132 Hz

28393622160. ¥ 2486 Hz

Question Number : 101 Question Id : 2839365541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Two convex lenses of focal lengths 20 cm and 30 cm are placed in contact with

each other co-axially. The focal length of the combination is

20 cm 8w 30 cm arergoesdanen fey Bodh Hozrsed Ssen 2.8 T8
2,563 A8 DB HeE o @08 2GS, DOTIrN0 T3, Frerr0esdam

Options :

28393622161, % 60 cm
28393622162, % 10 cm
28393622163, ¢ 12 cm

28393622164, * 40 cm

Question Number : 102 Question Id : 2839365542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A point source of light is placed at the focus of a concave mirror. Consider only
paraxial rays. The shapes of the wavefronts of incident and reflected lights

respectively are

75 58390 T0E) DTS T°8) 5Q 5t0ed ), Do 280 GoBDR00.
&rS O BEETO0 S5 HOBB0H0B. Heb OGN HTI0S Fose Tk,

SEOTTTPO @507 T
Options :

spherical, spherical
28393622165, * Ners°S, Fersed

28393622166. ¥ gﬁpylesgsilynligg



spherical, planar
Rersed, Deeser

spherical, cylindrical
28393622167, % NFS0, WarsS

planar, spherical
28393622168, ¥ NS, Awrsd

Question Number : 103 Question Id : 2839365543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the electric potential af a point on the surface of a hollow conducting sphere of

radius R is V, then the electric potential at a point which is at distance R from the
3

centre of the sphere is
R s:r80 o 2.8 a8 S'on Feo Thnk), &n08003 d0id FRRche V eond,
50 F0190 S0 % EFB0S' B0 Do) 5 D8 FHIHS

Options :

28393622169. ¥ V

28393622170. % 3

28393622171, #

]

28393622172, % 3V
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Question Number : 104 Question Id : 2839365544 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The effective capacitance between points A and B shown in the circuit is

SO0HOS IFHDAS A 80 B Hothde 085 HO¢ BIABR)

| T °B

Options :

28393622173. ¢ 2C

28393622174, % C

C
2

28393622175. *

28393622176, % SC

Question Number : 105 Question Id : 2839365545 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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The Wheatstone bridge shown in the diagram is balanced. If P is the power

dissipated by R; and P, 1s the power dissipated by Rj, then the ratio % 1s

i
DB DS DEETS (DB 0585 0300. P3 930 R3 o 50° 08 55090
20D FDP0 HOAW P; @036 R; & 507 08 55000 98D 50 eon s,

B 2558
A
R, ;/\L
~ < & >
Rsﬁ\\/K
Options :

==

28393622177. ¥

K:*
28393622178. % L

L
28393622179, * K’

L
28393622180. # K

Question Number : 106 Question Id : 2839365546 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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A wire of resistance 2R is stretched such that its length is doubled. Then the

Increase in its resistance 1s

QEE0 2R K0 2.8 SED Q) PG BEI0D) @MSENFEATE. €900 T°0
GBS DHEG

Options :

28393622181, ¢ OR
28393622182, % 4R
28393622183, % 3R

28393622184, % 2R

Question Number : 107 Question Id : 2839365547 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

It is found that a non-zero current element is unable to produce any magnetic
field at a particular point. Then the angle between the current element and the

position vector of that point with respect to the current element is

2,8 P8 NS |DareT STOF0 2,8 A0 DOKMY SO DENS0E] chHRy 06
B @) D880 8. @008 & D DrOS0 D0 & e Dredo
HB050 &3 Do) TRE) T HAF a1 Fea0

Options :

must be 45°
28393622185, ¥ DO 45° owd
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may be 0° or 180°

must be 90°
28393622187, % DLBor 90° sowd

may be 30° or 60°
28393622188, # 30° E‘EL‘T 60"~ ﬁ@(ﬁ:ﬁtﬁ)b}

Question Number : 108 Question Id : 2839365548 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Three long, straight, parallel wires carrying different currents are arranged as
shown in the diagram. In the given arrangement, let the net force per unit length
on the wire “C” be F . If the wire ‘B’ is removed without disturbing the other two

wires, then the force per unit length on wire “A” 1s
HO0S SrDS Do I DAE (DaTen DA et FESS, B)d,
DEFOSE e @508 1% G on. A IS @B, 'C' &K ) 2508

2200 F &, 26 ok efedh Sofo Seifom & ‘B’ Q Sonodds,
& ‘A’ T} d50¥ P 200

Al B C
3 b
3i 2i
i
L 2
d d
-— >

Options :
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28393622189, ¥
&%
28393622190, # 3F

28393622191. # 2F

—_—

5
28393622192, ¢ =i

Question Number : 109 Question Id : 2839365549 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If y 1s the susceptibility and ., s the relative permeability of a ferromagnetic

substance, then
2,8 DT ©aHar, 08 Do By SRRDOE 1 DO FE 145 e |L

®oNs

Options :

28393622193, # ¥ <<I
28393622194, % M, <<I

28393622195, ® M, =0

28393622196, ¢ X >>1
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Question Number : 110 Question Id : 2839365550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Metal detector works on the principle of

DOS ABES H ot S0

Options :

Ohm’s law
28393622197, % 2o OGN0

Coulomb’s law
28393622198, ¥ 57"EN) OO

Electromagnetic induction
28393622199, ¢ V05D, 08 05

Etefan’s law of radiation
28393622200, ¥ Nar'® D85 (o

Question Number : 111 Question Id : 2839365551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A copper disc of radius 0.1 m rotates about an axis passing through its centre and
perpendicular to its plane with 10 revolutions per second in a uniform transverse

magnetic field of 0.1 T. The emf induced across the radius of the disc is

aﬂérﬁmgo 0.1 m e &8 oo &) oo Bolfo Hhom ey o SerdE ©o0T &o8 @0
Store 408 85 wabdrod Fgo 0.1 T & 280% 10 gbeare FHpS SHHHIH.

o TR FgF0 woibe iy EPBRIE B0

Options : .
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b/ g
28393622201, % 10

28393622202, ¥ 10

28393622203, ¢ 107 mV

28393622204, ¥ 20r mV

Question Number : 112 Question Id : 2839365552 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At very high frequencies, the current (i) in the given circuit is

w#HE )T 5 (8ob Sewchos® DEgS (Harero (1)

L e GF 40 ol g
_J"lll"-,.f'ﬁ"\'),-"\‘.{.--\ 11 I ( ¥ o _| :—-"ﬂ".";\"'.")“" ) 0) h"'.,fn"-l_r"-i‘_'
— —— 05uF —— 0.5uF |
10 T - _—
I I A x-"ﬂ"- AN I ll Pl ',-"\ff"'-.' I : J,rx\-r,-"-\\lr.-“\\_
' n -
4 0.8uF 0.8uF 0.8uF
Dy
Ry
220V

Options :

28393622205, ¥ 4 A

28393622206, ¥ 0.4 A
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28393622207. ¢ 44 A

28393622208, ¥ 4.4 A

Question Number : 113 Question Id : 2839365553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Electromagnetic radiation of intensity 0.6 Wm™ is falling on a black surface. The

radiation pressure on the surface is
o8 &) § Soop 0.6 Wm™ 858 Ko ikgiabiod 88ere S0 BoHik)d. vavs

© 00D D8m Hssn

Options:

0 iy
28393622209, v 2%107 Nm

0 3
28393622210, * 3x107 Nm

i} _:
28393622211, % 4x107 Nm

_l.j _:
28393622212, * 0107 Nm

Question Number : 114 Question Id : 2839365554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Radiations of wavelength 400 nm incidents on a photo sensitive material of work

function 2.2 eV. The stopping potential is nearly

400 nm 308350 fe> D8Beren 2.2 eV HA (D300 Koy 2.8 &P ard; gk
DTG0 HebDHTNN) 2. OB ATHE FRYMDNS rdrr

Options :

28393622213, v 0.9V
28393622214, % 0.5V
28393622215, # 0.4V

28393622216, ¥ 0.1V

Question Number : 115 Question Id : 2839365555 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a hypothetical Bohr hydrogen atom, if the mass of the electron 1s doubled then the

energy of the electron in the first orbit is

a8 S0 556 mEPas HEdrdS?, DS (5850°8R B0 323 of) S0iB
s66 8

Options:

28393622217, ¢ —27.2eV
28393622218, ® —13.6eV

28393622219, % —0.8¢V
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28393622220, % —34eV

Question Number : 116 Question Id : 2839365556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The half-life period of element X is same as the mean life time of element Y. Assume

initially X and Y have same number of atoms. Then

Hresin X Gy of dddswo, direfo Y @ng) Hritn d04 swerl8 Sirdo. &

X 00w Y en $85m 503;565 SEsrmod B8O 6ImoHEhin. ©ond
Options :

Initially X and Y have same decay rates
28393622221, % &end X, Y o el Ben ddrdo

Always X and Y decay at same rate

58393622222, % X0 Y © D5oeod Tew gpiir Sdmdo

Y decays faster than X
28393622223, v X B0 SBr Y Dnexs 3ot

X decays faster than Y
28393622224, % Y 508 &Bre X DiHexs Bothidd

Question Number : 117 Question Id : 2839365557 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegedunias



Heavy water is used as moderator in nuclear reactor because

B0|55 8057E0 & 238230305080 WSO SrHIBTAOES S50

Options:
[t controls the energy released in the reactor
58393620205, % DO DEPESHE® Jenwth 8 Vaho@oibi
It absorbs neutrons and stops chain reaction
£8393622226. % 3 PHEPRD 200, Fend 3850 @
It cools the reactor faster
28393622227, % 28 Sairfti & Sgalehi

It slows down the fast moving neutrons
28393622228, v B0 Btfore $00T SrgerH Ikyhodiey Jakod

Question Number : 118 Question Id : 2839365558 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Photodiodes are mostly operated in reverse biased condition because

P EArEoH ST 85°EE0E"S THTE JoWHESTT

Options:
Fractional change in minority carriers produce higher forward current
28393622220, % ©R) SOFE FrSOE” SEE Hrly ©OE HB° D8 @ariRY SeariERod

Fractional change in majority carriers produce higher reverse current
28393622230, % ©B8 Bowgs TFSed” FEE Sty 06 85 DS BTy Seori@ion

,
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Fractional change in minority carriers produce higher reverse current
0 Yogrsd arirsrost Y Srth) 068 88° s (Pt SeorE@Hod

Fractional change in majority carriers produce higher forward current

5839362273, % ©B8 Ko Tirsed® &8Y Sty ©hY HE® JyE B SeorEiyod

Question Number : 119 Question Id : 2839365559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about LEDs?

LED &%) 5020800 & 1308 ¢3¢ HOTDS 785050 E?

Options:

High operational voltage
28393622233, % OO (D80 S'Pes

Warm-up time 1s required
28393622234, ¥ FBELER8 DHOHO 5380

Bandwidth of light is 4000 A — 7000 A
58393622735, % G0 50 HE3 Jchen) 4000 A — 7000 A

Fast on-off switching
28393622236, ¥ SIDOSD &S - &) D 5D Yo

Question Number : 120 Question Id : 2839365560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegeduniag



An amplitude modulated wave is represented by ¢, (t)=10 [1+D.6 sin (1250t ]] sin [ 10't )

Then the modulation index 1s

28 $0% $0MB SrtsPS Sor $isdmin ¢, ({)=10[1+0.6 sin (1250t) | sin(10°t)

w00, ErxBiS e Denid

Options :

28393622237, % 10

28393622238, % 1250

b
28393622239, ¥ 10

28393622240, v 0.6

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Maximum Instruction Time:
Sub-Section Number :

Sub-Section Id :

Chemistry

283936123
3

Online
Mandatory
40

40

40

Yes

0
1

283936123
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 121 Question Id : 2839365561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The energy of second orbit of hydrogen atom is —5.45x 107" J. What is the energy of

first orbit of Li*"ion (in J)?

TERS drmHs’ Dot & 88 -5.45x10™° Toowd Li™ warSS' 30658
85 48 (] o6) 208?

Options:

28393622241, % —1.962x10

17
28393622242, v —1.962x10

17
28393622243, * —3.924x10

|8
28393622244, % —3.924x107"

Question Number : 122 Question Id : 2839365562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The number of electrons with (7 +/) values equal to 3,4 and 5 in an element with

atomic number (z) 24 are respectively

(n = principal quantum number and [ = azimuthal quantum number)

H8Sreanons (2) 24 Ko freso Sob (n+]) Jevden 3, 4 HbA 5 o JirSore
flo Jogey dogyen BT

(n = Pderd sXobo dogy, [ = 25086 s%0€0 dogy )

Options :

28393622245, % 7,8, 5
28393622246, % 0,8, 0
28393622247, ¢ 8 1,3

28393622248, % 8, 8,3

Question Number : 123 Question Id : 2839365563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following
Bob &R et

List — I (e=dde= - 1) List — Il (e=d& - 1I)
(Atomic number) (Group number & Period number)
(S8 Sogy) (il Sogy, OAHE Somg)
A) 56 ) 9.4
B) 50 IT) 3,6
C) 27 [1) 14,5
D) 58 IV) 2,6

The correct answer 1s
POR NAFEN0

Options :

28393622249, ¥ A—IILB-1V,C -1, D-1II
58393622250, * A—=IL B—III,C -1V, D -1
28393622251 % A—IV,B-1,C-1I, D -1III

28393622252 v A—IV,B-II,C-I,D-1I

Question Number : 124 Question Id : 2839365564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to MO theory, the molecule which contains only 7T- bonds between the

atoms 1s
MO ?ac:goéo (@50 SSrmRe Dgy TT-20gred m@:b 65N OEND)

Options:

28393622253. v 2 chllegedunia;



28393622254, % N2
28393622255, ¥ 2

28393622256, ¥ B2

Question Number : 125 Question Id : 2839365565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following changes there is no change in hybridisation of the central

atom?
Bob & SrEn® Sols HBHme) K088 %@@5 Sm)) Bew?
Options :

8 H M1 -
28393622257, ¥ C.H,———C,H,

28393622258, % PCly +Cl" —— PCI,

28393622259, % B3 TF > BF

28393622260, ¢ INH; +H —— NH|

Question Number : 126 Question Id : 2839365566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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The rate of diffusion of a gas A is V/5 times more than that of gas B. If the molar mass
of Ais xgmol™, the molar mass of B (in g mol™) is

A o e %) aPEN B oo B %08 \ff_a Ody JES. A Ewg) Jrerd

S5oe8 xgmol ™ eans B &), 3rerd (55oe8 (g mol”! 06

Options :

28393622261, % 4x
28393622262, ¢ 2 X
28393622263, ¥ 16X

28393622264, ¥ 23X

Question Number : 127 Question Id : 2839365567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following has the same number of atoms as are in 6g of H,0?

808 8¢S’ BAAHOH bg © H0 6% ddrmde Soggd S&ms Sogge®
O TEN)CN GGOLFON ?

Options :

28393622265, % V-4 g He
28393622266, % 22 & CO2

28393622267, v 1 & H2
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28393622268, # 12 g CO

Question Number : 128 Question Id : 2839365568 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

For the reaction at 25 °C, X,0,(/)—— 2X0,(g), AUand AS are 2.1 K.Cal and
20 Cal/K respectively. What is A G for the reaction at the same temperature?

(R=2 Cal K'lmol)

2B étg X504 (|8)) ——>2X0; (o) 8% AU, AS en &8 2.1 K.Cal, 20 CalK
©ond ©8 618 g S8 AG Deod dod ?

(R=2 Cal K'lmol™!)

Options:

28393622269, ¢ -2.07 k.Cal
28393622270,  12.67 k.Cal
28393622271, % -1.67 k.Cal

28393622272, % 1t3.67 k.Cal

Question Number : 129 Question Id : 2839365569 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following does not form a buffer solution?

Bod >ES® DB 2HS (EPHTR AEYBSED?

Options :
28393622273, % NH; + HCI (2:1 mole ratio)
28393622274, * CH,CO,H + NaOH (2:1 mole ratio)

28393622275, v NaOH + CH,COOH (1:1 mole ratio)

28393622276, % NH4CIH+NH; (1:1 mole ratio)

Question Number : 130 Question Id : 2839365570 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The hydrides of which group elements of the periodic table form electron precise

hydrides?
Ehalefy é@é@ﬁ o ) Sreose THEE, aq%v@ DO B0 N RGED EDES;,ESJ%_EOJJ?
Options :

group 12
28393622277, % ¢ 12

group 13
28393622278, % & 13

group 14
28393622279, v (% 14
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group 16
28393622280, % i) 16

Question Number : 131 Question Id : 2839365571 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The alkali metal with lowest E“\Yl V) is X and the alkali metal with highest

E° = (V)isY.Then X and Y are respectively

M 3\1[

gy E° (V) g0 X Hbckn K68 E°

M § E° . (V) o g86%F0 Y eonds’

X o08ain Y en Sdre
Options:

28393622281, v L1, Na
28393622282, % L1, Cs

28393622283, ¥ Na, Li

28393622284, % Cs, Li

Question Number : 132 Question Id : 2839365572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): Be and Mg do not impart any colour to the flame

Reason (R): The electrons in them are strongly bound to get excited by flame
A8)%o (A): Be, Mg en e Sorbd Swl o)
s=8:0 (R): HBS° DolgRY weom aohodad dotito Ho ol axe dg 68880 528

The correct option among the following is
%208 DAITOS HOTSA

Options :

(A) and (R) are true. (R) is the correct explanation of (A)
28393622285, v (A) 08diw (R) Qzo, (A)H (R) TS Dd8es

(A) and (R) are true, but (R) is not the correct explanation of (A)
28393622286, ¥ (A) 08I (R) Aeso, 5890 (A) & (R) BB0 250es 50t

(A) is correct but (R) is incorrect
28393622287, # (A) $8H6 570 (R) $356 s°¢h

(A) 18 incorrect but (R) 1s correct
28393622288, % (A) BB 5°th, =20 (R) ITHH

Question Number : 133 Question Id : 2839365573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Aluminium reacts with dilute HCI and liberates a gas ‘A’ and with aqueous alkali

liberates a gas ‘B’. A and B respectively are
@eruoho Hee HCl & S Tod arding A’ &, 58 we (oS08 ST ob
aeadn) ‘B’ & adod. A, B en Hdm

Options :

,
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28393622289, % Cl2, O2

28393622290, ¥ O2, 02

28393622291, ¥ Cl2, Ha

28393622292, v Ha, Hz

Question Number : 134 Question Id : 2839365574 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement about the oxidation states of group 14 elements

o=y 14 Sorosre @%éds‘a%&a@*‘é} %020000% EG® KO LD HBoD
@ —
Options :

Carbon and Silicon mostly exhibit +4 oxidation state

18303622003, % S ROSEes @orsore +4 efyEERid (B6gxRon

Tin in +2 oxidation state is a reducing agent

85 +2 o&yE8edas® 2.8 Eansses
28393622294, ¥ @ e

Lead in +2 oxidation state is a reducing agent

18393622205, v S& T2 ©3860R8E" a8 KoHESH

The order of stability of +2 oxidation state follow the sequence Ge<Sn<Pb

)8393622206, % T2 EAEORED ROSIOIH KOG Ebo Ge<Sn<Pb
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Question Number : 135 Question Id : 2839365575 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The IUPAC name of the given compound is

Ba5e8S ﬁﬁ:&@’ﬁo @) IUPAC oo

0""\.“

OH
Options:

6-F0m1y|-3-hydmx§-5-methylocl-4-em:

58393622297, % 0-¥B8 ~3-F°E°]) - 5~ WP -4~ &S

5-hydroxy-2-ethyl-3-methylhept-3-enal

28393622208, % D~ TER) ~2- 8BS -3~ RS -3- &S

3-methyl-2-ethyl-5-hydroxy hept-3-enal

28393622299, % °~ WPS -2~ 58S -6~ ';‘»_;ﬂ@éﬁav% -3~ &

2-ethyl-5-hydroxy-3-methylhept-3-enal

- | = - oy R
58393622300, v 2~ S@S ~5- TE8) -3- WPEG -3- &S

Question Number : 136 Question Id : 2839365576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The aromatic compound / species with maximum number of x - electrons is

KO% - olgEy Ko eb'irdE Sdygiso / =8

Options : :
P collegedunia:



Phenanthrene
28393622301, ¢ PORES

Naphthalene

et
28393622302, ¥ THOS

Cyclopentadienyl anion

28393622303, % L5, POLPEIS DJAPS

Cycloheptatrienyl cation

58393622304, % 28 TLBIS oS

Question Number : 137 Question Id : 2839365577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In the conversion of A to B, the electrophile involved is
(8]

]
Redhot CH,-C-C1
CJHE lrontube >A Anhy. AICT, »B
873K

A B e Srgod® DIAPEDS Q€S

o
Il
C,Hy—=———A » B
TT 2a N0 TP AIC
873K
Options :

28393622305, # CH;

O
Il

Cl—cCe
28393622306. #

,
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CIEI

28393622307. #

O
Il
Hs(‘ p— C(:E]
28393622308. ¢

Question Number : 138 Question Id : 2839365578 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
An alkene X on ozonolysis gives a mixture of Propan-2-one and methanal. What is X?

X, 0 sB)f % L& E000 w0LS5HE BFS-2-£5 H0cHH TS g
061, X 06 06?7

Options :

Propene

28393622300, * (&P0S

2-Methylpropene
28393622310, v 2~ DRSPS

2-Methylbut-1-ene

28393622311, % 2 PPOARI-1-&S

2-Methylbut-2-ene
28393622312, # 2-oPSaxeT -2 -8

Question Number : 139 Question Id : 2839365579 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : Non
collegedunia:
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The formula of a metal oxide is Mp.oO1. The fractions of metal that exists as M*" and
M= ions in that oxide are respectively

28 & 6B F8yr MogsO1. BAHO &'aro MY, M edimgmr 0o
grrren SBNme

Options:

28393622313, v 0.083, 0.916

28393622314, % 0.916, 0.083

28393622315, # 0.88,0.12

28393622316, % 0.12,0.88

Question Number : 140 Question Id : 2839365580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

At 50 °C, the vapour pressure of pure benzene is 268 torr. The number of moles of
non-volatile solute per mole of benzene required to prepare a solution having a vapour
pressure of 167 torr at the same temperature is

(molar mass of benzene=78 g mol!)

50 °C &% HQ Boda era) §¢%0 268 torr. o3 ﬁéﬁ;@é % 167 torr ars]) 50 Ko
) S0 Jomis e 36 BodTh Eenidens @ Hd Edo Irde
oy

(BodS Jrerb (5e550~8=78 g mol )

Options :

,
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28393622317, # 0.305

28393622318, * 0.705

28393622319, v 0.605

28393622320, % 0.405

Question Number : 141 Question Id : 2839365581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The rate law for the decomposition of hydrogen iodide is — LI k[HIT . The

dt
units of rate constant k are

d[HI
TGRS oT0EE ErSE Bendaho — % =k[HIT}, o Béx yoro¥o
k % clrefen
Options :

-1 _-1

28393622321, v L mol™ s
_'| _-I

28393622322, % L mols

2 = I
28393622323, * L mol™ s

1/ i
/2 o
28393622324, * L' mol“* s

,
gcollegedumag
India’s largest Student Review Platform



Question Number : 142 Question Id : 2839365582 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A current of 15.0 amperes is passed through a solution of CrCl, for 45 minutes. The

volume of Cl, (in L) obtained at the anode at 1 atm and 273 K is around

(IF=96500 Cmol™, At. wt.of C1=35.5,R=0.082 L-atmK ™" mol™)
CrCl (o woe 15.0 wodaby HEgdn 45 Adoare artn (Hrosdeth. eSG

&6 ofod Cl ssosrmo 1 etrpionb Do Hoaw 273K $5¢ (ege)

TP

(IF=96500 C mol™, At. wt.of C1=35.5,R=0.082 L-atmK ™" mol™ )

Options :

28393622325, v 4.7
28393622326, ¥ 3.7
28393622327, % 2.7

28393622328, % -7

Question Number : 143 Question Id : 2839365583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can form ionic micelles in water?

Bod 8SE° DD VBS° wairdE Mo G Fon ?

Options : .
gcollegedumas



Starch molecules
28393622329, % ® OJEENYEN

sodium lauryl sulphate

28393622330, v T EAH0 08 $EE

lodine molecules
28393622331, % OXrES ©0Hen

Sg molecules
28393622332, ¥ S8 GEVIED

Question Number : 144 Question Id : 2839365584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The ore which 1s purified by Leaching process is
Ao HEBS® Hf Iahald e

Options :

Zinc blende
28393622333, # 2205 B0O&

Bauxite
28393622334, ¥ 2B

Calamine
28393622335, ¥ SO

Haematite
28393622336, % oTNTED
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Question Number : 145 Question Id : 2839365585 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P,+ 3NaOH + 3H,0—"%2 53X +PH, T
HCl {aq} -

The incorrect statement about Y 1s
Y % Somobod) w60 TS
Options :

[t 1s also called phosphonic acid

28393622337, ¥ &I 3"@5?&5 8300 O X5 Wotrd.

[t 1s a monobasic acid

28393622338, % BB DBEFES @0

It is a reducing agent

28393622339, % SO EA0EED

Oxidation state of the central atom 1n 1t 1s +1

J5303629340, % NS BolBE BESrw wf)Ese §8 +1

Question Number : 146 Question Id : 2839365586 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of lone pair of electrons to bond pair of electrons in ozone molecule 1s

48°5 oS’ eotd wd QOTHD, 208 w8 JoFTIH D Ko NS

Options :

,
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28393622341, ¢ 2:1
28393622342, % 3:2
28393622343, ¥ 2:3

28393622344, % 1:2

Question Number : 147 Question Id : 2839365587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the oxides of halogens
A. At room temperature, OF; is thermally stable
B. Order of stability of oxides of halogens is I > Br > Cl
C. 120s is used in the estimation of CO
D. ClO; is used as a bleaching agent

The correct statements are

SBSeS g8)fed Sonohod (Bob TGO HBKBotSod
A. 58 agfrd 58, OF: &3 RE&0 Hod
B. $¢6*nS eB) 26 Eo 1> Br> Cl
GO ﬁgcmoiﬁiﬁoﬁa 05 %5 e

D. ClO; & D8oesdisor ardarto
DO DStesen / argegen

Options :

28393622345, # A & B only

28393622346, % A B & Conly
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28393622347, * B & C only

28393622348, v A, C & D only

Question Number : 148 Question Id : 2839365588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
XeF, +O.E, - X +0,

X+H,0—=>Y +2HF

(Dol )
The shapes of molecules of X and Y respectively are
@YD X, Y o efdenr I
Options :

Square planar, square pyramidal
28393622349, % WSO SIS, SEBER DBDES

Distorted octahedral, square pyramidal

28303622350, v SOTHE0 TOBY ©RZNHoL, SHOO HEMWES

Distorted tetrahedral, Distorted octahedral

Ja303600351 % JETHEO BoBS BEFIRES, Derdmo Bos OFEn D

Square pyramidal, Tetrahedral

£8393622357. % WD LBDES, BErarES (SE8yHan)

Question Number : 149 Question Id : 2839365589 Question Type : MCQ Option Shuffling : Yes
Displ ion N :Yesl i : : g
isplay Question Number : Yes Is Question Mandatory : No Calculator : Non gcpllegedumag



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following the incorrect statement about transition metals is
$OBBD S0t Somofod (Bod e KOs amgeyg

Options :

Cr, Mo and W have high melting points

Cr, Mo 50805 W e @b8 (BDF55 ool 80 &otron
28393622353. # L 0

With increase in number of unpaired electrons melting point increases

58393622354, % ZSSTED Do Sogg 1O T8O eSS Faren DSsibEEow

Mn"" is more stable than Mn~’

Mn’ gz Mn’" By 23S Ay
28393622355, ¢ Val OS[BS

They show variable oxidation states

— e 5sn JobH @HEGFo

Question Number : 150 Question Id : 2839365590 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Match the following
Bod arfR) esdhdhdn

List — I (Complex) List — II (Spin only Magnetic moment)
e -1 (Soggo) erder —II (@ errdd echamod (grno)
A) [CoF,J” ) 0
B) [CU(CJOJ,)s]B_ 1) \/3_4
C) [FeF " M) <8
D) D ()] V) {5
YJRUE
The correct answer is

WO Sadrgrdo

Options :

28393622357. ® A—V,B-I,C-1V,D -1
28393622358 v A—ILB-1,C -1V, D —1II
28393622359 * A—ILB-L,C-V,D-1II

28393622360 # A—-IILB-ILC-1,D-V

Question Number : 151 Question Id : 2839365591 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ziegler-Natta Catalyst is used in the manufacture of
258 - i 438505 O 688 =l

Options :

,
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Polyacrylonitrile
28393622361, ¥ TOIEE” JBS

Terylene
28393622362, % 86O

High density polythene
28393622363, v OB FolBE FOHS

Low density polythene
58393622364, % P8) FolEE FOEHS

Question Number : 152 Question Id : 2839365592 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The deficiency of which vitamin causes pernicious anaemia?
58 3risd @0 O DS 7 BeniHiodh?

Options :
28393622365, # Vitamin By
28393622366, * Vitamin Be

28393622367, * Vitamin E

28393622368, ¢ Vitamin B>

Question Number : 153 Question Id : 2839365593 Question Type : MCQ Optio gcollegeduniag



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following molecule with the structure acts as
Bod Ao 00 & Ko emyd DO HVTA0e

NHCO CHCl:
D:N—@— CH —— {:ll{— CH:0H
|
OH
Options:
Antibiotic

28393622369, ¥ diroBn@re@E

Antiseptic
— 5
28393622370, % OSroe3a)S

Analgesic
28393622371, ¥ rSRNE

Tranquilizer
28393622372, % €708 5820

Question Number : 154 Question Id : 2839365594 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is least reactive towards Sx1 reactions?

Bod BS° DB Snl Sge By SKS SoegdodSh KO dotwod?

Options:

28393622373, # CeHsCH,CI

,
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28393622374, v CoHsCl

28393622375, % H,C=CH — CH,CI

28393622376. * (CeHs),CHCI

Question Number : 155 Question Id : 2839365595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following sequence of reactions

Bob [Edriition Dot

C (i) O3 , P (1) CH3Mg Br/Ether ; Q E"CC; s R

The incorrect statement about R 1s
R % Hoaobod 850 TR

Options :

It gives test with Tollens’ reagent

Je303609377 % SO O SEE0E $OERK00

[t undergoes Cannizaro reaction

58393622378, v B0 SVE’ S &*$HEod

It gives iodoform test

28393622379, % B0 O@OE"FD BOFIK00

[t undergoes aldol condensation

28393622380, * OO S DOBN S &P55808.
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Question Number : 156 Question Id : 2839365596 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The common name of benzene -1, 3- diol 1s
BodS-1.3- &3rS tﬁné& Eﬁ*’&’wé&l 0

Options :
Resorcinol

28393622381, v OFQTS

Hydroquinol

28393622382, % LEHTS

Catechol
28393622383, % BLES

Cresol
28393622384, % BFS

Question Number : 157 Question Id : 2839365597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the major product C in the given sequence of reactions

Bod adkala (e :ﬁfﬁéﬂﬁs @eeS ad e C Do Hbohaw

: o (i) CHsMgBr | Ether SOCH CH:0ONa

> A > B

(ii) H* | H:O A A s

Options :

>= CH;
28393622385, ¥ 2
collegedunia;



>—ﬂ— CH:

28393622386. #

O—CHs
28393622387. #

O

X

28393622388, # =

Question Number : 158 Question Id : 2839365598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in the correct order of their reactivity towards nucleophilic
addition reactions

S8 ErHOS Hoded S Bty Bod B ard Soegded Sore KGN [Ehiod®

EéJEﬁJEﬁJJB'JJJ
CHs(E:O CH:C=0 CH,=0 CH:—=C=0
I I
H NH; CH;
| [ [11 AY
Options:

28393622389, # 1= I =1V =1l

28393622390, % IV=>1T>1>1II

N>M>1>1V
28393622391, ¥ gcpllegeduniaé



28393622392 « LI =1=1V =11

Question Number : 159 Question Id : 2839365599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CH;

(1) KMnO,4/0OH P (1)Zn|HCI \Q (1)CuCN s R

(iyH' " (i))NaNO, [HCI * (iH [H,0 ~
0°C

NO;
R is one of the monomers for the formation of a polymer called

808 & FO:HE dEwos® R ob el b
Options :

Dacron

28393622393, ¥ GE°®

Nylon 6,6
28393622394, % 3 6,6

Nylon 6
28393622395, % SN 6

Bakelite

28393622396, % BSOE

Question Number : 160 Question Id : 2839365600 Question Type : MCQ Option Shufflina - Vac
Display Question Number : Yes Is Question Mandatory : No Calculator : Non« gcpllegeduniag



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is B in the given reaction?

Br, |
CHBr———> A«——=—B

NH, KOH

Bod $858° B @S5 267?

el
NH,

a

C,H,Br >A «—=—B

Options :

28393622397. ¥

28393622398, #
_~__NH-CH;

28393622399. ¥

28393622400. ¥ -
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